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PAPER - VI
Full Marks : 90
o Time : 4“hd'urs
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary

GROUP - A
[ Marks : 64 ]
Answer Q. No.1 T::md any three of the rest :
S TR AT R SRR el T G 2R Teg e 3
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1. Explain any four of the following : 4 x4
@ @I 5135 7@ TR I 3

(@) e Spic: |

(b) T St |

(c) T=FAM1 H=mm: |

(d) FATTAE |

() Tmd: wefafe: |

() B Fa aF |
(g) afgaeioraeammeR = |
(h) o agen |

() Fura T wreats: |

2. Explain with context any fwo of the following
extracts : 8x2

e RS 70 s T 399 ¢
(a) ‘' FeoaE T FTERTHRGGE |
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(b) fiar g waw frepaigaaard: |
(c) TmmEvEgEy 3fa g T 9 |

(d) e seReEiaT HRuafededs
qqE:, 9 ¥ Oe8d |

(e) Ihuveifien! JuRenlsRearasmeacaamiEm |

3. Explain the formation of the compound of any
four of the following : 4 %4

BISf5 #TRR SIS S19 IR 9 ¢
e, WIARH, e, 3o, feu,
foeme, ags:, goay, wﬁ:,ngﬁ;g: |

4. (i) Account for the case-ending in any six of
the following underlined words citing
relevant s : 2x6

(a) TG iR |
(b) ¥y T & T T |
(c) ufp: T Fow |
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() foa oo sy

(e) g8 7 fafer o

(f) e R e AAEETAT, |
(g) 7 U It AW afer T |

(h) & feire: |
() Sfea sy g |
() T gE ER: |
(if) Distinguish between any two of the following
pairs by citing relevant ¥7s : 2 %72

(a) a¥ EFMYST and TEU SATHTIIS |
(b) T w6 ZeTid and THHE a9 S |
(¢) &g and G&eT: |

(d) TS and TSI, |

(e) Taetr: and Breleht |
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5. Write short notés on any two of the followihg : |
woq e Bt co1d - 8x2
- (a) P |
(b) Folsrta: |
(c) ST |
(d) Reg: |
(e) TR 1
GROUP — B
tMarks_ : 26 ]
6. Answer any {wo questions : | 11 x2
@ I g o SR e

(@) Write a critical note on non-Aryan influence
on sanskrit.

ﬂ";?sw@’mmﬁgﬁﬁ A1 ST wﬁ
ﬁwﬁm @e 1



(6)

(b) What is Epic Sanskrit 7 Discuss the main
characteristics of Epic Sanskrit.

TR vicge TS B AR 7 93 Yot Tt
LA I |

(¢) Show by examples how Vedic and Classical
Sanskrit differ from each other..

Gz Tafes @ ol TTegpe Rl fomet S
i

(d) Write short notes on any fwo of the
following :

RN R NG E

(i) Assimilation.

ARSI |

(ii) Metathesis.
3 Rfa

(iii) Epenthesis.
| wfafEfe |

(iv) Grassmann's law.
AT |
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7. Transliterate any one of the following Sanskrit
verses into Roman script using diacritical
marks wherever necessary : 4

Wﬁ@ﬁmmmmﬂ%
'»Tﬁ?%@zr«: g

(a) aﬁamqﬁwmmﬁq |
i SR 9 ge: |

(b) aﬂﬁ@mﬁﬁﬁﬁﬁeﬁmt
SavraRg TwTg Taefa wead 11
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